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Dialogue 1

Answer questions 1 to 3

Question 1

The trouble of JAS86AE occurred on its ...

1. hydraulic system.

2. fuel system.

3. braking system.

4. steering system.
Question 2

JA001G declined the controller's offer because ...

1. the pilot wanted to save time.

2. there was not enough preparation time.

3. the takeoff weight was not so heavy.

4. the takeoff distance was insufficient.
Question 3

The taxiing route of JA001G after T3 was via the runway to ...

the departure position of runway 09.
the departure position of runway 27.
its spot.

the maintenance area.
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Dialogue 2

Answer questions 4 to 6

Question 4
What was the reported Obihiro weather?

Wind 200 degrees at 22 knots and QNH 3001.
Wind 200 degrees at 22 knots and QNH 3010.
Wind 220 degrees at 20 knots and QNH 3001.
Wind 220 degrees at 20 knots and QNH 3010.
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Question 5

What was the first controller's transmission to JAS6AE?

1. To hold in the runway.

2. To hold short of the runway.

3. To authorize its takeoft.

4. To report when ready.
Question 6

JAS6AE eventually vacated the runway due to ...

an ATC instruction.

a vehicle on the runway.
an arrival aircraft.

its performance.
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Dialogue 3

Answer questions 7 to 9

Question 7

The takeoff was aborted due to ...

ATC instruction.
hydraulic failure.
control trouble.

wind conditions.
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Question 8

The instruction to JAS6AE was to pick up ...

A2 and taxi to spot 1.
A2 and taxi to spot 2.
A3 and taxi to spot 1.
A3 and taxi to spot 2.

PO

Question 9

JASG6AE did not accept the ATC instruction due to ...

slippery surface.
aircraft weight.

airport layout.
maneuvering difficulty.
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Dialogue 4

Answer questions 10 to 12

Question 10

What was the first trouble JAS6AE experienced?

1. Hydraulic system failure.

2. Engine malfunction.

3. Engine fire.

4. ATC instruction.
Question 11

JAS6AE stopped on the runway, because ...

1. of the other conflicting traffic.

2. of the runway contamination.

3. it could not taxi by itself.

4. its spot was not yet allocated.
Question 12

The controller probably coordinated to send ...

a tow truck and medical staff.

a tow truck and maintenance personnel.
an operation's car and a cargo truck.

a fire engine and paramedics.
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Dialogue 5

Answer questions 13 to 15

Question 13

What was the nature of the trouble JAS6AE encountered?

1. SID misunderstanding.
2. A troubled ground facility.
3. A receiver failure.
4. Pilot's illness.
Question 14
JAS6AE would have made ...
1. a VOR low approach.
2. an emergency landing.
3. apriority landing.
4. anormal landing.
Question 15

JASG6AE requested a wide pattern, because it needed ...

1. ground support.

2. spare time.

3. refueling.

4. to check cloud conditions.



Dialogue 6

Answer questions 16 to 18

Question 16

The pilot was unable to comply the controller's request initially because of ...

lack of the equipments.
weather condition.

trouble of the aircraft system.
aircraft climb performance.
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Question 17

The controller gave him radar vector heading to ...

TORII Point.

NAHA VORTAC.

runway 36 final approach course.
avoid towering cumulus.

PO

Question 18

The pilot requested heading 050 due to ...

avoiding the traffic.
traffic separation.
cloud condition.
restricted area.
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Dialogue 7

Answer questions 19 to 21

Question 19

The pilot requested altitude change due to ...

light plus turbulence.
icing condition.
cloud condition.
landing preparation
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Question 20

The controller instructed to reduce airspeed due to ...

arrival separation.

traffic separation.

speed restriction of control zone.
time restriction.

PO

Question 21

The reported traffic was ...

opposite direction and below of JA123G, and visually contact.
opposite direction and above of JA123G, but negative contact.
same direction and below of JA123G, but negative contact.
same direction and below of JA123G, and visually contact.
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Dialogue 8

Answer questions 22 to 24

Question 22

The problem was ...

high lift device trouble.

landing gear trouble.

passenger sickness.

unable to contact with company.
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Question 23

JA123G changed destination due to ...

1. fuel condition.

2. destination weather changed.

3. advice from the controller.

4. hydraulic system trouble.
Question 24

Initially, JA123G was flying at ...

1. 7,000 ft.
2. 9,000 ft.
3. FL170.
4. FL180.

%EE9/15



Dialogue 9

Answer questions 25 to 27

Question 25

Current approach type of Miyazaki Airport was...

1. visual approach runway 09.

2. ILS approach runway 27.

3. visual approach runway 27.

4. VOR approach runway 27.
Question 26

The pilot did not request ...

1. wind condition.

2. emergency landing.

3. medical assistant.

4. traffic information.
Question 27

The condition of sick passenger was ...

1. toothache.
2. headache.
3. backache.
4. stomachache.



Dialogue 10

Answer questions 28 to 30

Question 28

The captain reported the copilot was ...

bleeding from his chest.
difficult to walk.

having a breathing problem.
having headache.
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Question 29
The pilot requested ...
1. aprecautionary landing.
2. an emergency landing.
3. atechnical landing.
4. an immediate landing.

Question 30

JA123G asked the controller to ...

stand by at the gate.

stay on the runway upon arrival.
confirm medical personnel standing by.
allow a low approach.
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Dialogue 11

Answer questions 31 to 33

Question 31

The pilot requested hold over ANPAN initially because ...

wind-shear was reported on final.

ATC radar depicted strong echo on final.
rough air condition was reported on final.
airborne radar depicted strong echo on final.
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Question 32

Latest wind ...

satisfied aircraft limitation.

exceeded their headwind limitation.
was over their crosswind limitation.
did not satisfy their tailwind limitation.

PO

Question 33

The controller instructed heading and altitude to the pilot because of ...

an approaching traffic.
another landing aircratft.
a takeoff aircraft.

a missed approach traffic.
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Dialogue 12

Answer questions 34 to 36

Question 34

Runway closed because of ...

1. aircraft fire on the ground.

2. encountered bird strike.

3. rejected takeoft.

4. thunderstorm approaching.
Question 35

The instruction to JA82BJ was ...

1. missed approach.

2. break to Katsurahama.

3. hold over Kochi VOR.

4. divert to another airport.
Question 36

The intention of JA870Q was ...

landing due to critical fuel condition.
change destination without delay.
holding up to 30 minutes.

wait until runway open.
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Dialogue 13

Answer questions 37 to 39

Question 37

What was the trouble of JA123G?

1. The malfunction of the instruments.

2. The malfunction of the steering system.

3. The malfunction of VHF radio.

4. The malfunction of the engine.
Question 38

What was the suspected cause of the trouble?

1. Maintenance problem.
2. Wind condition.
3. Ingestion of foreign object.
4. A bird strike.
Question 39
JA870Q requested to ...
1. make a runway check.
2. drive the birds away.
3. change the runway in use.
4. return back to ramp.



Dialogue 14

Answer questions 40 to 42

Question 40

What was the problem with JA123G?

1. The malfunction of the flaps.

2. The malfunction of the landing gear.

3. The sudden change of weather.

4. A medical problem of the trainee.
Question 41

The condition which the controller told them was ...

1. low visibility at Takamatsu airport.

2. low ceiling at Takamatsu airport.

3. low visibility at Okayama airport.

4. low ceiling at Okayama airport.
Question 42

What was the reason why the pilot made his intention?

Land at Okayama airport due to company reason.
Land at Okayama airport due to safety reason.
Land at Takamatsu airport due to company reason.
Land at Takamatsu airport due to safety reason.
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